5 TR ; 45 A3
AT & | 43, REFEEH 44 45. BABUHRIE
&l Bk A ERolES ML [P A Sy s

EEIGi 7 130 9 80| 33 460,558
EFmH 5 384 6 230 15 1,008,393
7= 11 79 10 67| 22 742,401
mEf 15 38 16 38 34 432,058
TES 10 99 12 61 31 568,257
JAlgTH 1 482 3 302 26 650,945
BET™H 4 392 2 381 30 579,763
TiEFKT 2 468 1 388 23 720,735
mA+THh 14 46 11 65| 28 603,122
&Emmh 8 128 7 125 27 605,663
1l - - - - 25 679,030
BERT 12 71 14 43 9 1,169,263
=T AT 13 52 15 a1 2 3,347,213
H EFET 17 21 19 12 16 996,143
ZZH BT 18 17 17 17 13 1,023,812
e+t - - - - 4 2,082,370
B - - - - 3 2,307,633
=rF 19 10 18 13 14 1,012,282
A LLET - - - - 8 1,182,166
REMT - - - - 6 1,516,409
T TErT - - - - 11 1,136,283
KINF+ - - - - 1 3,910,910
LT - - - 29 587,138
=€) /T - - - - 10 1,163,857
bt 1EHT 9 125 8 111 12 1,118,512
£ )| BT - - - - 32 486,938
AN ET - - - - 20 870,621
EIRET - - - - 5 1,807,910
HE# - - - 24 714,316
FEETET - - - - 18 929,303
/a5 + BT 15 38 13 56 19 914,032
XA 6 301 5 237 17 969,138
=FEH - - - - 7 1,396,680
vy 3 414 4 257 21 791,223
= 5E 3,295 2,524 612,212
ERX FER30EITATH FERX30FE11A1H FRL30EE
=g BELUYX BEELUYR THETH TEA B DK 35
HFT EiKES BMKESL B BTH R ELER
k=

(BT ASEDEERELE))

2,082,370.26

1,169,262.62

1,012,281.84

914,031.66

714,315.86

45. BABUR AR

0

587,137.69

40km




=
HETH 2, ;;,;; 46. BABHIEH 47. AATHETH R [48. mETHHi & EEE

% | NEfz JBGL (HAASEY) | IERS (MO AZEY)
EEIGi 1 0.64 1 51,418 4 136,719
EFmH 15 0.23 27 28,772 27 83,178
7= 10 0.31 12 35,230 12 102,999
mEf 2 0.62 3 43,436 5 129,783
TES 4 0.39 9 35,985 19 97,802
JAlgTH 3 0.42 14 34,747 6 123,465
BET™H 6 0.36 11 35,299 11 106,416
TiEFKT 13 0.27 18 32,196 24 88,994
mA+THh 7 0.35 8 38,053 10 106,930
&Emmh 7 0.35 2 43,469 17 99,437
1l 10 0.31 15 34,680 15 101,442
BERT 31 0.12 21 29,921 34 71,481
=T AT 19 0.20 16 32,842 20 94,125
H EFET 21 0.19 10 35,977 18 99,171
ZZH BT 25 0.16 24 29,349 29 79,281
Jeist 21 0.19 28 28,728 2 162,369
B 30 0.15 4 42 852 3 152,623
=rF 14 0.25 5 41,602 7 115,101
Z< LT 25 0.16 19 31,941 22 90,857
REHRT 25 0.16 34 23,669 14 101,761
T TErT 17 0.21 26 28,785 8 114,055
KINF+ 31 0.12 6 41,453 1 172,250
LT 5 0.37 7 41,208 9 112,068
=€) /T 25 0.16 33 25,241 13 102,724
bt 1EHT 23 0.17 20 30,229 31 76,472
51| BT 9 0.33 13 34,761 25 87,409
Fagsiliing 17 0.21 17 32,430 28 83,104
EIRET 31 0.12 30 28,165 26 84,871
BE& 12 0.29 23 29,489 16 99,547
FEETET 25 0.16 29 28,507 30 79,076
/a5 + BT 16 0.22 25 28,943 21 94,074
XHEHET 23 0.17 31 27,073 23 89,703
=FEH 31 0.12 32 25,741 33 72,307
2T 19 0.20 22 29,521 32 74,672
= 5E 0.26 43,023 118,633
ERX FRRI0EE FRRI0ERE TR 30EE
=g HETHITERBROKRE  [HETATIHBORKRE  |HEM TR BROKR
H AT B HETH R ELER E BT IREER B BTH R ELER

SHEFEHIRH

k=

48. METF Hi REEE 0

(A1 ASED)

136,719.30
112,068.02
101,761.44
97,801.86
88,994.30
79,281.48

40km




